0 convert between the following units.
ut variables until ending with the

I. 12kg

Ld K

A5 4mm ' 2 L e "'
1000 mm | £
4. 1.2m = km
'e&m ’ Y'm =
1000 -
= I

.iui .%

5. 1547 ¢ &
15.47 x)0 -
b
6. 45.1 mg = s o O
dmg| I
) 000 mﬁ / j
7. 1.45¢ = Mg
l 8 |
8. 4.100mL = L '




9. 1.2kL

|, QKLZJOOU LLL ')YqunL ‘ ;x\O\a

10. 145 mL -

\HamL mo" nL
16‘00

1. 6.51 L




. Name:
Density Calculations Worksheet - Iflonors

VT E—— T T S
density = mass ~ UNITS OF DENSITY
L volume | g/lcm® or g/mL
1) Find the density of a wood, block that has a vojume-of-5-6-em>and a mass of 30.5 g.

D=")v - 2335 ocm3 -

QS the greater mass — 10 cm?® of copper or 5 cm® of megcury?
MecurN

( 3.42 9lom )(10em3)- 3qoag.3 qog m (13.5393) cm3) 56m3>=(ﬂ.47=;‘)03

3) Calculate the mass of a wooden block that is 4 cm long, 2 cm wide, 6 cm high, and has a density of

0.5 g/lcm®, (hint: fing (the volu)rr(\e of a bjlock first) DxV
\Jolumc;(l,’}lzngmgcm pem M": (O.Srakm?b(l'i%Cm%):gqa
densTtyC

4) In the table below are the mass and volume of some mineral samples. Calculate the

sample B. .
D= M|, - (‘9“3\/(3"'3\

5) What volume would a rock occupy if it had a mass of 31.2 g and a density of 10.4 ¢ 3'?_
~ V) 28 ., M 3l.ed
ViD- R s AT o0 - 33 5 (300 m?,
\ D D D 10.9glcm3

6) The density of oakis 0.7 g/cm?®, and the density of pine is 0. g/cm®. Compare the masses of a 30

cm? block of each type of wood. pint . )
M - DX\/ 00\ M’(0'73I6m 30<:m3) M - (o,qglcm )( OCm )
M= Q’%—) =~ a\ |
7) How large a container wourd yo 0 hold 195 g of a liquid that has—a—aénsity of 1.3 g/mL?

) S/ VO}UVY)

i s
YE m)D ) IQ?&/"aﬁ’mL —;

8) A jeweler suspects that a piece of gold jewelry in his collection is fake. If the volume of the piece of

. . - - : i _ hy not? . . ~
jewelry is 6 cm?. and its mass is 109 g, is the piece fake? Why orw w | /dJS/ Ve
gfy 3 AN in
3 o yes bt Id have

_mMmj ., - ( 109 ) - 0
D> / J /((acm3) )3.17%/66.(':3 ﬁ:agoﬁ}' '&%S%ﬁg.;d?bq,%/j/cm5

5 9
9) Substances A and B have the same volum®@. but the mass of B is twice as great as the mass of A.

How do the densities of the two substances compare? |3, "mu’ \ aer\L. ( 4\\ ‘
lume = | mL mass A = | D= ) @X\S‘*&L\C
\K/)}:)B ‘ mass B = 93 D - 39| \mL QS'ML (8) € Pas) KL

10) 28.5 g of metal is added to a graduatedCylinder containing 45.50 mL of water. The water level rises
density of this metal. ldentify the metal.

to the 49.10 mL mark. From this inform/ation, cglgulgte the
- ; s (Oh
- 45,350mb 4 Y q J’W\L u e
—Z,0mL

11) Calculate the density of a metal that has a mass of 36.457 g and a volume of 13.5 cm’. Identify the

)3.5(.'“3 q"’ £



Interpreting IMass Vs. Volume Graphs Name:

Graphing is a very important tool in science since it enables us to see trends that are not always obvious,
Graph the following data and answer the questions below.

Illllllllllll L syt e e
chart try to figure out f
you increased the
substance to 55 mL, how

‘ many grams would the

IIIIIIIIHIIII

2. How much space would
‘ 65 g of the substance take

AT

30 Data Chart

T AT e T
substance (g) Substance

11T ATTN T

JILA T

1T -

AT
AT

Volume (cm3)

Mass (g)

3.. As the volume of a sample increases from 20. mL to 30. mL, does the mass increase or decrease?

Y naeases DECWISE W Howt a \)osﬁrwr. Slope_

4. Calculate the Density of the substance. Show

b';‘ m)\( 68I5Cm3 z

our work!

5. According to your calculation of density which substance is graphed?
Substance Density

Hydrogen 0.00009 g/mL
Mercury  13.5 g/mL
Carbon 2.3 g/mlL

ater 1.00 g/mL
Suc . m (. ﬁ




s Graph the following mass and volume numbers on the graph below. This graph is a line graph and wil
ook like the graph on the other side of the homework.

Volume of liquid _
(cm?)

Density of Unknown
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3. As volume increases, what happens to the mass?

BRGNS

9 Find 12 mL on the volume line. Follow that line until it touches the line you drew. How many grams
would it be?

koGOOL

10. What volume would 90 g occupy?

1y
11. What is the density of the liquid? Calculate using

D=M)y - aogltlcm

he data table.




